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b3 #H 73, 532 173,012 81, 465 91, 547 -100 =77 -23
% B2 ih i 19, 967 46, 572 21, 237 25, 335 -53 -25 -28
+ Z Br 584 1,360 648 712 0 0 0
4BAF—TH 262 646 294 352 -5 -1 -4
SEBRE_-TH 161 382 162 220 0 0 0
4BE=TH 275 666 294 372 5 0 5
4BAFEMTAH 362 874 17 457 2 0 2
4SBERTH 247 590 270 320 2 1 1
4BFENTH 467 1,069 455 614 2 0 2
Z B = 1,195 2,779 1,293 1, 486 -3 -3 0
mEHMA—TH 251 610 282 328 4 -1 5
mEA=TAH 146 380 164 216 -2 0 -2
£/ F—TH 505 1,121 489 632 -2 -1 -1
E£/TFZTH 183 393 178 215 -5 0 -5
£/ TF=TH 248 554 265 289 0 0 0
£/ THTH 342 752 345 407 0 0 0
£/ TFTARTH 39 93 45 48 0 0 0
£ /J F 18 41 18 23 -1 0 -1
mAS®—TH 208 428 184 244 2 0 2
RAAXZTH 160 379 170 209 -2 0 -2
RAX=TEH 133 327 157 170 2 0 2
mAB/MTH 254 576 256 320 0 1 -1
INET—TH 131 265 124 141 -5 -2 -3
INETZTH 444 1, 091 472 619 7 0 7
INET=TH 245 529 229 300 -4 -1 -3
KET—TH 438 920 406 514 -3 0 -3
KET—TH 578 1,246 557 689 -15 -1 -14
KET=TH 378 844 379 465 1 1 0
KET@TH 381 931 428 503 -2 -1 -1
KETETH 315 725 354 371 -4 -2 -2
KETRTH 189 527 248 279 2 0 2
KETETH 82 224 102 122 0 0 0
MAKRE—TH 442 1,013 468 545 3 1 2
MARE_TH 423 966 445 521 -3 -1 -2
MARE=TH 617 1,489 684 805 -3 1 -4
MAREMTH 257 619 288 331 -2 0 -2
MARERTH 561 1,388 649 739 7 -1 8
MARERTH 481 1,149 555 594 -1 -1 -6
RLEAE—TH 488 991 454 537 -8 -2 -6
HLEAHEZTH 766 1, 691 754 937 9 -1 10
HEHE=ZTH 378 877 412 465 0 -1 1
B AEMTH 362 853 404 449 -1 -1 0
il Bk HT 495 1,093 471 622 -6 -1 -5
#® B H 328 837 373 464 -5 -1 -4
{EBI—TH 416 1,043 500 543 0 -1 1
EB1—TH 276 667 322 345 -3 0 -3
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£A—TH 337 809 369 440 3 0 3
EAZTEH 7136 1,610 735 875 -4 -3 -1
£E&=TH 157 438 189 249 1 1 0
EAMTH 130 257 119 138 -2 0 -2
E&ATH 380 955 461 494 1 0 1
 / F 499 1,260 539 121 -3 1 -4
WEE—TH 293 642 298 344 1 -1 2
WmEE"TH 250 579 260 319 -2 0 -2
WBEE=TH 181 396 173 223 -3 -1 -2
WmEEZMTH 101 250 108 142 3 -1 4
WA AHB—TH 249 531 243 288 2 0 2
WA AHB=-TH 173 411 190 221 1 0 1
WHAHB=TH 220 568 235 333 -2 0 -2
EAAHBmTAE 144 408 182 226 0 -1 1
WA AHBAETHE 606 1,460 672 788 -6 -1 -5
B o i 10,129 24, 651 11, 547 13, 104 26 -19 45
E#—TH 398 1,318 588 730 8 -1 9
E#%—TH 490 1,161 563 598 -8 -4 -4
E#g=TH 719 1,659 763 896 6 0 6
[E#%m T B 333 739 370 369 3 1 2
E#ATH 380 939 444 495 -1 -1 0
E o - E 2,474 5, 864 2,786 3,078 10 -5 15
m#E—TH 487 1,136 520 616 5 -1 6
mE#EE_"TH 390 986 450 536 5 -1 6
% E=TH 263 656 300 356 1 1 0
[iick: 3= W= 457 1,087 511 576 -1 -1 0
tBAHEERE—TH 6 20 11 9 0 0 0
tEBAHEER-TH 461 1,086 487 599 -2 -3 1
tEBHEER=TH 494 1,246 575 671 0 -1 1
tEBEAHEERMNTH 494 1,154 512 642 -2 -2 0
tEBAHEERERTH 287 702 345 357 -1 -1 0
EmE—TH 708 1,809 863 946 2 1 1
EWE_-TH 456 1,102 525 571 -2 1 -3
tEBAHE—TH 454 1,062 509 553 3 0 3
tBAHEZTH 378 925 425 500 0 -2 2
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=GR OH#h i 14, 088 33, 724 16, 017 17,707 -29 -25 -4
#E—TH 344 807 393 414 2 1 1
wE#ERE-TH 774 2,000 938 1,062 0 -4 4
#E=TH 5717 1, 446 656 790 -1 -1 0
#EMTH 338 757 341 416 -1 1 -2
B’ERTH 395 792 367 425 -1 -1 -6
i =} 233 463 254 209 -8 0 -8
F5—TH 479 1,121 558 563 3 -3 6
F4SHZTH 501 1,161 511 650 -1 0 -1
FH5=TH 403 1,018 434 584 5 0 5
F n 271 574 278 296 -3 -2 -1
1] % 2,256 5,313 2,638 2,675 22 0 22
£ BT B 712 1,700 820 880 -29 -2 =27
FL—TH 284 725 352 373 6 0 6
FILEZTH 448 1,138 534 604 -3 -1 -2
FIL=TH 319 817 405 412 1 -1 2
FLETH 568 1,457 707 750 2 -1 3
FLAETH 218 460 233 2217 0 0 0
FILARTH 105 216 115 101 -1 0 -1
F I 45 104 44 60 0 0 0
HH—TH 194 438 214 224 -1 -1 0
HH_-TH 385 981 484 497 1 -2 3
HH=TH 831 1,993 966 1,027 -6 0 -6
HEHEMETH 329 799 380 419 4 1 3
HHETH 612 1,466 686 780 -4 -2 -2
HHANTH 202 485 232 253 1 1 0
5] H 0 0 0 0 0 0 0
= g 1,395 3, 348 1,528 1,820 -5 -6 1
#eElLU—TH 206 571 251 320 6 0 6
#HAEL_-TH 248 618 275 343 -1 -2 -5
#HEIL=TH 276 624 282 342 -7 0 -7
HeELMTHE 140 332 141 191 2 0 2
X iy #h = 19, 273 43, 047 20, 686 22, 361 -19 8 =217
Wb /7 AN 1,707 3, 836 1, 803 2,033 3 -1 4
£-TH 728 1,317 658 659 -7 0 -7
£=TH 664 1,503 7125 778 2 1 1
£MmTH 754 1,690 810 880 -2 0 -2
5RTH 1,131 2,765 1,373 1,392 -5 3 -8
=1 832 1,995 933 1,062 2 1 1
INRA—TH 564 1,029 513 516 0 1 -1
INERZTH 917 1,995 991 1,004 8 2 6
N R B 52 117 57 60 -1 0 -1
RKw—TH 285 492 227 265 -1 0 -1
KI=-TH 889 1, 551 7132 819 6 1 5
AKM=TH 547 1,107 518 589 -1 0 -11
AKmTH 710 1,590 173 817 3 0 3
AKMATH 785 1,730 791 939 4 0 4
KMARTH 563 1,142 551 591 -6 5 -11
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X fin 1,340 3, 149 1, 505 1, 644 8 2 6
=) 5 299 876 427 449 -2 0 -2
EHE—TH 1, 647 3, 766 1, 840 1,926 -10 0 -10
b= 1] 1,957 4,494 2,210 2,284 -1 1 -8
SR—TH 189 453 219 234 -1 0 -1
SRE-TH 363 943 440 503 1 -2 3
SR=TH 249 572 287 285 2 0 2
SRMTH X X X X 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 310 788 365 423 -1 0 -1
SREZTH 205 459 221 238 -1 0 -1
SRE=TH 248 580 257 323 1 0 1
SREMTH 458 1,072 491 581 4 -1 5
SRERTH 166 417 191 226 1 -1
SRENRTH 341 745 356 389 -8 -4 -4
SREtETH 373 874 422 452 -1 0 -1
E #H i = 10, 075 25,018 11,978 13, 040 -25 -16 -9
&—TH 401 784 409 375 -13 1 -14
[fAA—TH 641 1,404 680 724 0 -1 1
FBA=TH 746 1,530 117 813 -12 -4 -8
iz PN 1,777 4 568 2,148 2,420 -11 -4 -7
E#—TH 573 1,271 592 679 7 0 7
EE_-TH 664 1,673 797 876 0 1 -1
E#H=TH 252 618 309 309 1 1 0
EHEMONTH 230 655 298 357 -6 -1 -5
ERETH 455 1,143 553 590 4 0 4
& VN 2,223 5,625 2,767 2,858 -15 -4 -11
177 (] 1,399 3, 733 1,782 1, 951 12 -4 16
£5] =5 714 2,014 926 1,088 8 -1 9
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